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Sixth Semester Examination — 2007
ADVANCED ELECTRONICS CIRCUITS
Full Marks—-70

Time : 3 Hours

Apswer Question No. 1 which is compulsory and

any five from the rest,

The figures in the right hand margin indicate

full marks for the questions.

1. Answer the following questions : 2x10

(a) What do you mean by frequency
response ? Write down the importance of
frequency response during design of a

filter.
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4. (a) Draw the characteristics for voltage-

controlled negative-resistance switching

circuits. 5

y’Find out the expression for rise time of
cascaded stages. 5

5. (a) Explain operation and characteristics UJT.
5
(b) (i) A relaxation oscillator using an UJT,
shown in the fig.5b, is to be
designed for triggering an SCR.
The UJT has the following data:
n=072 lp=180V,Vv=10V,
lv = 2.5 mA, Rgs = 5 k€, Normal
leakage current with emitter

open = 4.2 mA.

The firing frequency is 2 kHz. For

C = 0.04 uF, compute the values of
R1, B2, and R3.
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(i) If the firing frequency of the SCR is
changed by varying resistor R,
obtain the maximum and minimum
values of R and the cerresponding

frequencies. 5
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Fig. 5b

6. (a) The circuit shown in the fig. 6a has the
following parameter values: Re = 1K,
R =6.8K, C=0.05uF Viy= 24 V, and
\V,=8.0V. The iransistor CB h-parameters
are o = 0.98, hy = 209, h, = 3x107%
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